| dE/dx estimator 1 |

0.3

0.25

0.2H

0.150

0.1+

0.05(

Ratio
N

= Entries 224930
= s S el Mean 2.306
i Std Dev 1.493
[ Entries 191418
- Mean 2.39
C Std Dev 1.481
Entries 212974
i Mean 2.432
L Std Dev 1.477
¥ N N T
R R i;{#g
SR AR
NN T e raa kAN B8

1 2 3 4 5 6 7 8 9 10
dE/dx, harm?2

| dE/dx estimator 2 |

0.3

0.25

0.2

0.15

0.1

0.05

Ratio

N
N O

=
a

o'TIIII

= Entries 224930
= I it At Mean 2.145
i Std Dev 1.401
[ Entries 191418
- Mean 2.225
i Std Dev 1.394
M Entries 212974
L Mean 2.276
- Std Dev 1.4

.................................................

IIIIIIIIII
==
P
PO H
N
L
—-ef' 5
—
i
E 5

|

ST 4 5 6 7.8 9710
dE/dx, trunc40

—=— DQMstep3_TT_CKF
—o— DQMstep3_TT_default

—r— DQMstep3 TT_defaultNEWTepo10

CTTaTeS ZFIOT CTIaTeS 224930
""""""""""""""""""""""""" Mean 6.856 Mean 0.3944
Std Dev 5875 | Q. [ Std Dev 0.7515
____________________________________________ Entries 191418 Entries 191418
Mean 6.887 S At St At A Mean 0.3949
Std Dev 5.669 Std Dev 0.7495
"""""""""""""""""""""""""" Entries 212974 E S e 212974
Mean 6.547 Mean 0.3837
Std Dev 5538 | N AR Std Dev 0.7353

............................................................

...............................................

i CuT i i i i i
10 20 30 40 50 60 70 80
dE/dx number of measurements

Ratio

..................................................................

10 20 30 40 50 60 70 80

dE/dx number of measurements with saturation



	Contents
	Page 1


